
T35

-15-

    T35 - SPARE PARTS LIST v2.0 06/2017

 No. Qty. Desc. Ref.
 1 1 Handle WP-T35/001
 2 1 Motor Housing  WP-T35/002
 3 2 Container Catch WP-T35/003
 4 1 Indicator Light WP-T35/004
 5 1 Air Outlet Grid WP-T35/005
 6 1 Switch WP-T35/006
 7 1 Switch Panel WP-T35/007
 8 1 Auto Start Socket 240V UK Plug, Cover and Spacer WP-T35A/008
  1 Auto Start Socket 115V UK Plug and Cover WP-T35AL/008
  1 Auto Start Socket 230V Euro Plug and Cover WP-T35EUR/008
 9 1 On/Off Dial WP-T35/009
 10 1 Cage WP-T35/010
 11 1 Float WP-T35/011
 12 1 Pressure Switch WP-T35/012
 13 1 Motor Gasket Lower WP-T35/013
 14 1 Motor with Leads 240V WP-T35/014
  1 Motor with Leads 115V WP-T35L/014
 15 1 Motor Gasket Upper WP-T35/015
 16 1 Upper Motor Housing WP-T35/016
 17 1 Shaker Solenoid Pump with Screws 240v (T35A & T35A/EURO) WP-T35/017 
  1 Shaker Solenoid Pump with Screws 115v (T35AL) WP-T35L/017
 18 2 Plastic Tube 478mm WP-T31/018
 19 1 Universal Spout WP-T31/019
 20 1 Creative Tool 35mm ID WP-T31/020
 21 1 Hose and Handle with Air Control Valve WP-T31/021
 22 1 3 Core Cable with Plug 240V UK WP-T31/011
  1 2 Core Cable with Plug 230V Euro WP-T35EUR/022
  1 3 Core Cable with Plug 115V UK WP-T35L/022
 23 1 Cable Plate WP-T35/023
 24 1 Upholstery Spout WP-T31/024
 25 1 Lower Motor Housing WP-T35/025
 26 2 Filter Clip WP-T35/026
 27 1 Power Tool Adaptor WP-T31/027
 28 1 Hose Spout 35mm OD WP-T31/028
 29 1 Circuit Board with Leads 230V WP-T35/029
  1 Circuit Board with Leads 115V WP-T35L/029
 29A 1 Floor Spout Brush for Floors WP-T31/029
 30 1 Floor Spout Wiper for Liquids WP-T31/030
 31 1 Cage Gasket WP-T35/031
 32 6 Screw Self Tapping Pan 3.5mm x 16mm Pozi WP-T31/032
 33 1 Container Housing WP-T35/033
 34 2 Large Wheel WP-T35/034
 35 2 Castor 40mm WP-T35/035
 36 1 Anti-vibration Support WP-T35/036
 37 1 Hose 39mm x 5mm with Adaptor & Bayonet WP-T35/037
 38 8 Screw Self Tapping Pan 5mm x 32mm Pozi WP-T35/038
 39 1 Cable Gland WP-T35/039
 40 1 Container Deflector Bayonet WP-T35/040
 41 1 Hose Bayonet Fitting WP-T35/041
 42 4 Screw Self Tapping Pan 35mm x 30mm Pozi (T35A) WP-T35/042A
  4 Machine Screw Csk M5 x 25mm Pozi (T35AL) WP-SCW/117
  4 Screw Self Tapping Pan 3.5 x 11mm Pozi (T35A & T35/EURO) WP-T35/042

Please use only Trend original spare parts.



T35

-16-

PROBLEM SOLUTION
Motor does not start The ON/OFF switch is not activated. 
 Power cable is not attached to power   
 supply.  Fuse of the plug has    
 blown requiring replacement of fuse.

Suction capacity decreases. Remove blockages in the suction nozzle, 
 suction tube, suction hose or filters. 
 Replace the paper collection bag. 
 Check for proper installation of the filters. 
 Clean or replace the filters.

Vacuum stops running. 1. Turn the vacuum off and disconnect   
 vacuum cleaner from power source.   
 2. Empty the canister, if needed. 
 3. Allow the unit to cool.   
 4. Plug the power cable into an appropriate  
 outlet and turn on/off switch to the ON   
 position to test. If vacuum will not restart   
 contact your seller or check the location of   
 your nearest authorised Trend Service   
 Agent on the website.

Dust comes out while vacuuming Check for proper installation of the filters.  
 Ensure filters are not damaged; replace if   
 necessary.  Ensure filter seals are in   
 place and are secure.

No suction power during wet cleaning. Container is full; float has closed the   
 suction opening. Switch off cleaner    
 and empty the tank.

Power tool does not turn on in AUTO mode. The switch AUTO is not in position AUTO.  
 Power tool is defective. Check that the   
 power tool works or that the plug is    
 inserted properly.

Airflow indicator light remains on. Blockage or collection bag is full. Clear   
 blockage or replace collection bag. 

  T35 - SPARE PARTS LIST v1.0 04/2017

 43 4 Hex Nut M5 Nyloc (T35AL) WP-NUT/27
 44 2 Machine Screw M4 x 10mm Pozi WP-SCW/68
 45 1 Carbon Filter T35/6
 46 1 HEPA Filter T35/5
 47 1 Polyurethane Foam Filter T35/4
 48 1 Round Brush T31/3
 49 1 Cartridge Filter HEPA T35/2
 50 1 Micro Filter Bag T35/1
 51 1 Manual MANU/T35



T35 -  SPARE PARTS DIAGRAM v2.0 06/2017

Please use only Trend original spare parts.

T35A/EURO

16

15

36

45

5 1

46

38

17

22
44

23

25
26

32

2629

49
38

33

34

35

18

19
29A

30

21

37

28

41

47

34

35

20

24
27

51

48

50

10

31

11

6
4

9

3
2

3

39

14

13
12

42

40

38

32 38

7

8

T35A

42
8

T35AL

8

43 42

T35

-IB-


